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GENERAL STUDIES
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Time : 3 Hours | [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada. If
any confusion arises in the Kannada version, please refer to
the English Version of the questions.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must

be stated clearly on the cover of the answer book in the space

provided for this purpose. No marks will be given for the
answers written in a medium other than that specified in the
Admission Ticket.

Candidates should attempt questions from all Parts.

The number of marks carried by each question is indicated

with the question.

The length of the answers should not, as far as possible, exceed

the specification given for the question.

Ddew ToUS @ 8 hHeeyod ReINY FYE GOTOIOTY, & TF T Fod dedod
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PART A

Answer any two of the following questions in not more than

200 - 250 words each :

(a)

(b)

(c)

(d)

Why did Congress agree to participate in the elections of 1937 ?
What were the various measures taken by the Congress ministries
in the provinces during 1937 — 39 ?

How did the people of Karnataka react to the call of ‘Poorna
Swaraj’ ?

Explain the main contributions of the Brahmo Samaj to social and
religious reform.

Discuss the impact of States reorganisation on linguistic basis on
the creation of Karnataka.

Answer any four of the following questions in about 100- 120 words

each :

(a)

(b)

(c)

(d)

(e)

(f)

What forms did the Quit India Movement take in Karnataka ?

Discuss the initial efforts made by the reformers towards female
education in the Mysore State in the 19'" century.

Write a note on Harijan Campaign led by Gandhi after 1932.
What was the ‘Swadeshi and Boycott movement’ ?

What do you think were the reasons for the methods adopted by

the “revolutionary terrorists” in the struggle for Indian
independence ?

How did the national movement impact on the Princely State of
Mysore ?

20%x2=40

10x4=40
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1. & 39NS cImETH TR IFNER $0Zd. TBodeom BFRA T

200 Do 250 THNYD VIO :

(a)

(b)
(c)

(d)

(a)

(b)

(c)

(d)

(e)

(f)

1937 O HTTBRYE LPNBRDRHEE, T0RAT DT Wk ? 1937 - 39
T 0B00DE) T0RET DoBTOBUNY TEINYE Freod DG FFHIH

o) 7
‘TROE Foow, & FOR FoorEE wIoh et T,330NATT ?

TORNRE TR FoWET WFUBR WFH, TaRRG BT =0
dnmnineay HTOR.

pRAENY $E0r St ooy DITWSo0 FTEWED dmE T Shed
DD TOTRITRY, Oy WA

& 2UNT CIPPYTTTS Woen, TANOR  vIOR. TBodeomd W RAWTH
100 - 120 TSHVE LVZON :

TEUTHY, §43° @oR0I WWSPoI oINS OIMT  THBRYR
TRAHIR0BD ?

193¢ FITPITY, TH&%wo dF, 0 FOT0S TWFITHTITT RATH epleatd)
SPAT BTE BEDINYRY 20O e

1932 T Jo30 MofeRodnt 3eB Q) BT BORT WHTWEODTY 20
e3a,09 w3030,

Edea WDHF) WHIR,T WHTY Qomvesd 7

POBE  TE0E,,  Nomdmg,  “Gu08E0 euyedd” M
BYSRLBLOEOF HFIRNYR TPTENTERD 7 81 I ), VHT,0H 393,

dgjmoss mwn'o'@wcs eed m%eod: IHTPON o DeBoH TOZOTH
euoLDTRAB ? :

[Turn over
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3. Answer any fwo of the following questions in about 50 — 60 words each :

(a)
(b)

)

(a)
(b)
(c)
(d)
(e)

(4)

5x2=10

Highlight the message whlch Gandhi conveyed through his book
Hind Swaraj.

Discuss the role of the Indian National Army in India’s struggle for
independence. ' -

Why was Ambedkar in favour of separate electorates ?

4. Write brief notes on all of the following in about 20 — 25 words each :

2x5=10

Meerut Conspiracy Case

Akhila Karnataka Rajya Nirmana Parishat

Sigm'ﬁcance of Miller Committee Repoxl't in Mysore State
Kittur Rani Chennamma |

Sazithai Rebellion
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3. 39NT oINPHIEOH ST SFNOR LuZ0L. TBodeomd JF e T
50 - 60 IEMFS LLIJOY 5x2=10

(a) TRORONTTY T, S0 goaes*‘ 20w FAoH THROT BT Fore3s
mméoaﬁﬁvag{ YR,

(b) W0, BN LTI 3BT BROMITE  {RUSE m%eoda Red
(INA)oDH ToBEy, 2OB> e A -

() B/IBeE HBHTT TEmoohE [OmON  ©oleBETT e ILoDED
Fonges ?

4, @ 29NT SeRNYTe Tob P Bk wddkd. Frodromd LuT 20 - 25 JENY
0oHATLE : 2x5=10

(a) weTT wexow JFOD

(b) ©NO FIELIF UL ATIVE LD TOTSR

(c) RS ToEEY SPTF Tdd TTDODH HTE,
(d) B3RO0 Tord BT,

(e) ®oZOT mont

[Turn over
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PART B

5. Answer any three of the following questions in about 200 — 250 words
each : 20x3=60

(a) What are the steps taken by the Government to solve the

(b)
(e)

(d)
(e)

()

Kudankulam Project agitation ?
Has corruption haunted India’s growth ? Comment.

Many people believe that major environmental problems (like global
warming, depletion of underground water, etc.) can be tackled only
at the governmental level, whereas some others think that
individual initiatives are much more crucial and valuable than

institutional solutions. Discuss both the views and give your
opinion.

Examine the socio-cultural and economic significance  of
nationalising primary and secondary education in India.

“IPL brand is about Cricket and not Scandals.” Present your views
about the issue that aroused debate across the entire country.

How did the Sariska experience bring out the tiger crisis in India ?

Answer any five of the following questions in about 100 - 120 words

each : 10x5=50

(a)
(b)

(c)
(d)

(e)
(f)
(g)

What are the reasons for the collapse of Kingfisher Airlines ?

Briefly explain the impact of Iﬁdia—Malaysia Free Trade
Agreement (FTA).

Discuss the importance of public transport in cities.

Give an account of the changing scenario of Brahmagiri Wild-life
Sanctuary.

Highlight the salient features of US accountability bill.
Explain what is meant by “Sustainable Development”.

Bring out the implications of the absence of a healthy research
culture in India,

e
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5. 29NT oIMPYTOETH Fwd: TFMOR IOk, [Bodeomd JFNRL TP
200 Bo% 250 TENYY LVIOR 20x3=60

(a)

(b)

(e)

(d)

(e)

(f)

DEHO0 TOOIART TOJE  BoBNOTE  TWIRODIY WRTOTED
REOeTw) a:’maoaubas garigesd ?

13 TIRTR) LPTIE TBody Brdyod ? A, Bednva wdo.

WERBAG TOXTT WRRNGR, (Wn3E SoTHRT 00T, oBRE®
WOMMHAT ENOTOE DeZoD) THETEHE ML EY [T, ALRONTELL T,
Q06 BT RITWITT. BE0 [y FOT, WORT TOTTNONOT
Hobsr DHYFY Sdowom by B dmeodT  Tore
F,0ITTONHTE 205 LPNTIT. 8 STER FBeeane Wil Wl d
DI A, VPTODTIY VK.

PUSRY  mEWE  Tone  SLFDTOTITY T FTRRLRITT
RaRWRe-T0K, 3T Tone BPET BT, OB TOBeDY,

“0.8.00F. 1,067 AP 3FLFmNobe BHTBH JNTHRRINY.” ale
BeBmom08 wlroday SDAB DT PO AW, VPTODNTY
(AlefeseloN

POIE BO DB, HOT, By et Lncordagd ?

6. 29NS oMPYETH ©E JFMOR evzor. JIodeomd TFe WTPT
100 Do& 120 TEMYE LOION : 10x5=50

(a)
(b)

(e)
(d)
(e)
(f)
(g

S0t BT VUG RO BITE, TTNTERD ?

R0 - Hefedod @y @S wIon (FTA) © SOmabnvsy
wod Fazof DTOA.

SNONYY MHTERT TOROD TFEND,B0DITY, OB WA A.
LEAMHITHT WEND TIREDGIDHE GF HIT DO AL

o030, 7% BRBMOF SWRAFCD DBF LBV 3V4.

“zAo we{')qj%” QOWIER ?

Apletcla{ M le Vo R1e Ll o) ToBreFmo WoX, @& AQE BT NomrbdTHE
TOBTONYIRY, WROA.

[Turn over
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7. Write short notes on any six of the following questions in about

650 -

(a)
(b)
(c)
(d)
(e)

(f)
(g)
(h)

(i)

60 words each : 5x6=30
Write a short note on International Air Transport Association.

Mention the highlights of RBI’s policy 2012 — 2013.

What is Chennai-Dawei Corridor Project ?

Write a note on the need for rainwater harvesting.

Outline the importance of the concept of “Vishwamanava”
(Universal Man) put forth by Kannada writer, Kuvempu.

What is ‘meritocracy’ ?
What is generally referred to as “cyber stalking” ?

Briefly describe what is meant by “honour killing”,

8. Write brief notes on all of the following questions in about 20 — 25 words
each : . 2x10=20
(a) Paid News
(b) TRIMs
(¢) Millennium Development Goals
(d) Most Favoured Nation
(e) National treatment
(f) Pampa Award instituted by the Government of Karnataka
(g) The “Sistema Pullout”
(h)  Whether Air India-Indian Airlines merger a viable solution ?

Mohammed Ajmal Amir Kasab

Karnataka Folklore University

e

T

e

T ———— e

e
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7. 39NT cINRHETL $O TFNOR GOZOR/TS OO, IO  Ien

50 —

(a)

(b)
(e)
(d)

(e)

(f)
(g)
(h)

60 IoNY weooies : 5x6=30

wo@c’mibeod: OTPE Toreedd ®og® (International Air Transport
Association) 303 Wod, & 333 LSAND.

60f.0.2. Jed 2012 - 2013 T TEWEBNTY, SO
B3, ,-00%, F0@0? TodeewS worded ?
IO Toody SNEDYHET LN RO 3Ted WD,

TREC Se0Foor HFoR) TITOAT “VETPIT” TOTYIob SHBI [y
TR,

OTET T domdesd ?
OIRR TR TSN RO WFEH DT Qomd FBodnTT ?

“FHo3E T 3536” wo@TeR 7 ﬁo%a_g’mﬁ QIO

8 VNS QQRHNOTe Tod I Iz ed wdld. TBodeom YOIT 20 - 25 JENY

BoHOTLeD : 2x10=20

(a)
(b)
(c)
(d)
(e)
(H)
(g)
(h)

(1)
()

T ReRIoD WWHReS

TRIMs

BEXESE esz{)a{,% ™ONEd

Most Favoured Nation

mﬁ’e:ﬁa eaesoT (National Treatment)
TOOE LT WEE TR AU Bod Iy
The “Sistema Pullout”

QO'RA0BOID  WDFR WROHT QOGRS IR womd FooLETG,
TOTOTS ?

BABET ©,0f 0o’ FHwE
Tooe L3F s d &ag,améoo:b

[Turn over
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PART C

9. (a) Explain the construction of ‘less than’ and ‘more than’ ogives.

Mention the uses of these graphs.

(b) The weekly section of a leading newspaper has published the
following data on the percentage of female participation in various
professions within a state.

Percentage
Profession 92007 92011
Software Engineers 25 37
Defence Services 5 10
Foreign Services 12 13
Journalists 16 28
Lawyers 28 32
Architects 4 13
Chartered Accountants 13 20
P_sychotherapists 43 58
(i) Construct a suitable diagram for the given data.
(ii) Name the two professions with a narrow rise and a steep
rise in female participation.
(iii) Which two professions show the same decline in male
participation ?
(iv) A woman activist writes “.. at any given time women enjoy

maximum benefits provided they were in the minority
compared to the other professions.” KElicit this information
from the available data.

4

10

R et T
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9. (a) fless than’ @) ‘more than’ wsAmSrY oudonay DTOR. B4 MmNy

(b)

maﬁo&neﬁw@l SON.

womd BRO0T FHF WIFodo I, WEYWT DRNTQ, .06 ToBRYN
DOF FINYQ DHIODT) PNTLDYBT, HOBD ¢8R Jedmoms

BE0TI, TFEMS.

o Beg@momod
2007 2011
P BeTT QOBACHTEED 25 37
05, m Beadnisd 5 10
NEezoort Hedred 12 13
BIFIETH 16 28
TR 28 32
TOEBO Ve 4 13
I TAT I TOBeFEd 13 20
SHSReTwRert WeTFOH 43 58

(i) 2Q det3oow deR0ms, tord Ky Jeamuzay Tk,

(i) DL PPNFLBITDO FOEe HDOIIHNTE Borie BIZohmE
DOFOIPNTHT T IR, THOR.

(1ii) FPHobd PorTLTOZoD) Lode BedodA QIBDOTNOTOF TE

RN ?

(iv) ) D& Betoowmes Sert 2Boinzy

...... Q3T

BRcOVET DLLoDHTY BOToIRITINTIToF Towyle 3

Lo Rams  momd  DeYodoh nogy
UDLIIWTT.” 2 OIS TEoT, $FIdY

WIDDE R,

Feneon
oy Lde

e;sabs’aomfafgi
=T} amaoaomg,

10
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(e) (1)

(i1)

(12)

Krishnanrurthy has paid ¥ 465 every month on an average in
the year 2011, Now, he has detected that the computer has
not deducted a concessional amount of X 50 per month
towards solar heating system from the months of September

to December. If this is rectified, what will be the monthly

average 7

The sex ratio of boys to girls in a class X taking up the
Board examination is 4 : 5. The class of strength 90 averages
to 64 marks, while the boys average works out to 60. What

will be the total marks secured by girls ? 442

10. (a) Following is the data on the monthly expenditure of a family :

(i)
(i)

(iii)

(b) Calculate the Pearson’s coefficient of correl

Item Percentage of total expenditure
Food 65
|Clothing 10
Housing 12
Fuel & Lighting 5
Miscellaneous 8

Draw the pie diagram for the above data.

If the total monthly expenditure of the family is ¥ 25,000,
then find the expenditure on individual items.

How much percentage more money is spent on Housing than
on Fuel & Lighting ?

determination using the following bivariate data :

X |5 P9 |28 47 {21
vy |12|20| 25 |33 |35

Also, interpret statistically the values of the two coefficients.

44242

ation and coefficient of

e —

T T e Y

e e

o e e

o ik
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© () FFHede cowwssod 2011 0O XoRd B Soree T 465 Tomaod
TRATT. ﬁaa‘oaacfaow BROWTE BoNY=TOR, Reeeno® Weslont
auféa‘gﬁ RNoWoRATI Te 3onde T 50 BDode mga’aﬁ;
TORRUOT FAT TPAY QoE BTON B ne:Nd. ass
ROTBATT, ST TOIRD DI ?

(i) THoBPO® 55’0@&:\0335& :a"ﬂmb'u’\ra%zagcba‘ X de 3ongod BB
Tonwe TENOHT OommmEsy) 4 : 5 sad. 90 DTYPENVTIT
JNET TOIHO osned 64. BENT ToImd ©o% NYF 60 Uﬂtgd
TENORTY MY/E Lt LOBTED T, ?

442

10. (a) com BEDOWET AT Wedeny CEOTT, B TN dewennd :

&Ly Lobd) i Fesmoarood
ELople 65
AL 10
=3 12

R0FT T Semmy

5

Q3T

8

1) Sewon weyons, ) Deanug sy, oD,
(i)  BDevoww Gty TAT e T 25,000 esh

QE‘E,FEE‘ DHE ROLVERY, FoRLAMND.

g0 SZew worpner

(i) Q053 e OerISt owrIwAgLes Jesmomod o
BRI DI VHTN D IHESND Doy IEom. 4+2+2

(b) FvEom %debobt'w‘ m’s‘goaﬁa’ﬁgt 2YRIR0B SoHoTE

TOE0T ToMe AGPIETER MOERCTI, I, Tos ¢

Y8 FE Towory

X 5 9 13 17 21
Y 12 20 25 33 35
WY K ATEH MHOB0ENY a&a@ﬁﬁva{& moaﬁdﬁmh méa:aé:o&. 6

[Turn over
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(¢) In how many d1ﬁ‘erent ways can the following be done ?
(i) Number of ways of arranging 6 books in a shelf.

(ii) Arranging 6 players to throw the cricket ball so that the
oldest player may not throw first.

(iii) 6 gentlemen and 3 ladies be seated round a table so that
every gentleman may have a lady by his side. 2x3=6

e i it b i st o . = .
- i, o M e i | e R i i i S $ AR i b b i L i I‘E;
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(c) 8 IWNIIrivay, T DG DEBNYD SRBTDH ?
() oo YRRV wom BTG Bredms Do

(i) ©ZoT Hdod BLMTD Bedw QRO TRFEONE0S, eTh
a’aoa BLMITTRY, 3363F omd amoben aas‘:.', asbacsbq_f;c:sb

(iii) LOTod FHohwod W) TORTE DLLOBT 2,00 e IR

sRTes. Derfond aa'aoiraz% POOFS  TETD 2.2, maoe,?
BR3TLIew. _ 2x3=6
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2011
mﬁnaﬁ aspmﬁ

AL 1

BRWINED

T3 THodT, WNeRT DS FIEEY XAFONS. FYS
TV Todew LoD, FoNIEy oy gD JIMIR
OO .

Ny, GEeT TSTE FTPAIT SREdade (RofeT VP30
Fg@) de evFonvay wdodILm; AW, WIT TIFD
ooDEY  TIesmon  deswon  SNEY X aaon
FRPONIE D). TFeH TIHTO ITWORT SRGIHEY WIS
IO LoFTYRR, NFRRHOY-

5L PETTSO DER DGRNNY TV evIOTLICR.
8 T FoOOTRE BoFNTEY LOIP NI STRATRN.

J& wIow g ToRIEen S0P EADIg [~
TR ORI T80T VT RUEAE.

cC

[ o eossh : 300

Note :

The English version of the instructions is printed on the front cover

of this question paper.

g
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Paper 2

Time : 3 Hours | [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada. If
any confusion arises in the Kannada version, please refer to
the English Version of the questions.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must

be stated clearly on the cover of the answer book in the space

provided for this purpose. No marks will be given for the
answers written in a medium other than that specified in the
Admission Ticket.

Candidates should attempt questions from all Parts.

The number of marks carried by each question is indicated

with the question.

The length of the answers should not, as far as possible, exceed

the specification given for the question.

DIeT TRUS : B e ol BRWISINY FYE LPI0IODR S TF TEFon FeJad
T F0OTONG,
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PART A
1. Answer any one of the following questions. Restrict your answer to
200 - 250 words : 20x1=20
(a) Give a critical account of the standoff between the Government of

(b)

India and the Anna Team with regard to the passage of Lokpal
Bill.

What is e-governance ? Examine the major e-governance projects
initiated by the Karnataka Government.

2. Answer any three of the following questions. Restrict your answer to
100 — 125 words each : ' 10x3=30

(a)

(b)

(c)

(d)

(e)

Given the existing political scenario, comment on the prospects of a
regional party in Karnataka.

Write a note on the Backward Class Movement in Karnataka.

Describe the composition, powers and functions of the State
Legislative Assembly.

Discuss the gender quotas in Indian Parliament as an effective
remedy to overcome gender inequality.

Examine the organization and jurisdiction of Lokayukta in
Karnataka State.

3. Answer any four of the following questions. Restrict your answer to

50 — 55 words each :

(a)

(b)

(c)

Give a brief account of the composition and functions of National
Human Rights Commission.

Describe the Centre — State financial relations.

Explain the constitutional provisions of the Right to Freedom of
Religion.

5x4=20
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1. 8 NS oMPYmoETe womd T wUZDR. A, YT Wweod 200 dom
250 IENYHUO : 20x1=20

(a) SREFTO HBHBOD BONEFTITE, FowoPATOZ {PTT TWFET ToMe Y
BoBT IBNT WOR OB AWTE Sé#mﬁ WBAND.

(b) e-8EVPZT oFTED 7 FHELUT TFETR) STOPATIT JWNDTT e-BEVS
woodnendnyay wddedA,

2. & NS oIVPYOmCe mwsh JINYR  woZdr.  BBodeomd  BJFMA
TR 100 — 125 SENYE euZOR 10x3=30

(a) & FomThITHE DD FIMBTING ToRYETY, ITEWTTY
m,BedT BT REOD BLBAWT d0CE 0D OB TR

(b) FTEWTE LoDPE TINENY BHTY OB 2,000 E3Td WIAWD.
(c) D%y DGR TIoh TUE, WHFTTNE Tore FURNYSY DTOAR.

(d) OormEodE eTRPIBoDR, VODE wom TOMDED TN,
RUZE BoXESEY Dormgadd @moed BT OB Wese R,

(e) Bewd ToREY SneFoIn FFE W VT VRTT wHODTY
20T TOBCOR.

3. FYNT CMPTEOL T, TINYR LUZDR. TdodRomd SFA BT
50 - 55 BEINYE LOION : 5x4=20

(a) Dofeod WRRE THNY wolens OuN TMe svobeEEy O
Tod,Fezon LSO,

(b) Beom, — TORNY Trogom> WOWOFMYT DTOL.

(0) GONET MIT, & BEI, HOToZ ToDFOREOWE  LVBLIOGTYY
DO

[Turn over
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(e)

(f)

(4)

Describe briefly the constitutional protection given to the minorities
in India.

What is Sakala ? Explain its significance in Karnataka State.

Examine the decentralization of power in Karnataka State as per
the 73" Constitutional Amendment.

Write short notes on all of the following. Restrict your answer to

20 -

(a)
(b)
(e)
(d)
(e)
(f)

(g)

(h)

(i)
()

25 words each : ) 2x10=20

Justice Somasekhar Commission
Coal Mining Controversy

Tatra Truck Case

Dr, D.M. Nanjundappa Committee
Transparency in governance

Civil Society

Sri D, Devaraj Urs

Writ of Habeas Corpus

Zonal Councils

Sarojini Mahishi Report

T mE e i T

e T

s

e

—

B et
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() POUSEO woFoRION AFINTT FoDFRE TFBoddy FodFmon
DTOR.

(e) WO DomETesd 7 FEWT TIEEY ABT DTITTR ATOR.
() 733 WodgoR IRTBOD T/FT, ToEWT oOREY  WRFTTT
DECORLFCLTY OB JOBeOR,

& 29N QeRNINL Kod F L3md wodod. FBodsom GIT 20 - 25 Tong
SonOoless : 2x10=20

(a) TODTRIE BaeeHIe0 esodmer
(b) FQ@en MedrwOECDH DT

(c) 30t 83,5° TFOD

(d) @. B.0F, JooB, WW

(e) BBYITY TEBEFI

(f) ONDdT WP

(g Of B. BesSoo o

(h) HIod T3, Toxd e (O8)
(i) WoD JOIHRND

() =R DDA TTH

[Turn over
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PART B
5. Answer any one of the following questions. Restrict your answer to
200 — 250 words : 20x1=20
(a) Explain the regional disparities in human development in

6.

(b)

Karnataka.

Explain the objectives and scope of National Food Security Bill.
Does it help in ensuring food security ?

Answer any three of the following questions. Restrict your answer to

100 - 125 words each : 10x3=30

(a) What are the salient features of competition law ?

(b) Give an account of regional variations in the flow of foreign direct
investment in Karnataka.

(¢) Highlight the salient features of Karnataka State Budget 2012 — 13,

(d) Comment on the status and management of biodiversity
conservation in Karnataka,

(e)

Explain the nature of energy crisis in India. Suggest suitable
measures to case the situation. -

Answer any four of the following questions. Restriet your answer to

50 - 556 words each : 5x4=20
(a) Bring out the reasons for decline in rupee value against US dollar.
(b) Discuss the major issues in public distribution in Karnataka.
(¢) Explain the public sector scenario in Karnataka,
(d) What policy measures would you suggest for touriam development
in Karnataka ?
(e) Explain Indian initiatives to meet the challenge of climate change.
(f) Describe the impact of Eurozone Crisis on India.

e —
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5. FYNT CIVRHIETH word JF LVZOR. J, KZT 200 Bod 250 TINOM
SNETToZT LD : 20x1=20
(a) FPEWFOYT TS VRF QoD THEDT LTINS HTOR.
(b) Tog oD YTOYTET HEADOD FLOUND Toe QoD DTOX.
$E0 yEZohay DU TATWRHTE, A TR ?

6. 2UNT cIVPITOH FWT> JFNOR w0ZoR. TBodromd [N WO
100 dow 125 [HNYY LLZOR - 10x3=30
(a) BEETIANS DBF, OF condesd ?

(b) Borwsrd, Hdede BHW ST BrARTOD TOIN TowoPAToP T,HedT
FZTHANG Wi QTR

() Boorus® oon, Ledis® 2012 - 13 O HBF, OFPNTRY AW,

(d) FPEVTRY ReSHYRF, FHovZHod ZIME Tone AETHoDT HOD
TRERA.

() &PUSE @0FT VHHF KOABHRY, DNOL. 81 TOLOBI WHFOTEO BoF
ZNYRY BB

7. 3YNT oINPTOETH Ty, JIFNeR LVIO/3T D OAWD. IO Ien
50 — 55 WoNY wiovdoue ! 5x%4=20

(a) ow.ox'. mooth oA Cemdood BROF 3BT,
FTNTRY ATHHR.

(b) FTWELIE HTEBIT DICHCHATHT TF0H DTCDNTRY, OBy 23R
(c) BTHVELITEW TOWEWNT SOONT SRELTT, DTOR.

(d) FWEWEE JEPRRCRTOE  LPFHOMN gy oINT  FODEAESOD
FENYSy BRwWK0Sed ?

(e) TENRT WELHTHOD TNV, QWOTLD RUTFR) STOPATIT
BN, DTOL.

()  2P08E Sed olwBecs® TVoDE WEHS SOTNSY WTOA.
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8. Write short notes on all of the following. Restrict your answer to
20 — 25 words each :

(a)
(b)
(c)
(d)
(e)
(B

(g)
(h)
(i)

G)

2x10=20

Recommendations of the .13"1‘ Fmance Commission

Privatisation of higher education
Young India

Social security melaaures in Karnataka
Electricity distribution in Karnataka
New Industrial Policy of Karnataka

Employment programmes in Karnataka

ICT in Governance

Petroleum Subsidies

Credit rating agencies



(9) DD

8. 8 VNS oeFPHnene mod & 369 WBAWD. FBodeomd VT 20 ~ 25 TN
nSondoeless : ' 2x10=20

(a) 133¢ TeIToR BO3RENT BTN
(b) FYZT dF 0 LOTWNETFTLD

(c) oI T

(d) FTHELTEY TTPRF LT TN
() BWEWITY DY DSOS

() FWEWTE Box §mdw Jed

(g) TELTEY LVBALT FVODE TN
(h) emeszg ICT

(i) Bdecdodo FYAMED

(j) "ROT BT GeTmEd DUEIND
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10.

11.

(10)

PART C

Answer any one of the following questions. Restrict your answer to
200 — 250 words : 20x1=20

(a) Write a comprehensive note on the river systems of Karnataka.

(b) Give a brief account of coastal regions of India with special
reference to Karnataka.

Answer any one of the following questions. Restricl your answer to
100 — 120 words each : 10x1=10

(a) Describe the geographical characteristics of Malnad region.

(b) Give a brief account of the Golden Quadrilateral corridors in India.

Answer any two of the following questions. Restrict your answer to
50 words each : 5x2=10

(a) Discuss the various soil conservation schemes in India.
(b) Give an account of the mineral resources of Karnataka.

(¢) Describe the growth of Metropolitan cities.




9.

10.

11.

(11) DD
wont C
8 NS cRPYmwoe word IR LvZdr. A, VT Wawod 200 dom
250 au'a’ﬁ'."&'&c'@ : 20x1=20
(a) TJELTE SO a;.’i's‘:grf'ddgt OB WTTTE L3363 WwBOND.
(b) sEWSE e vgleantdoodn, pUSE FoURY BRBE Tod g HFO
ed,
& NS oMPYTETL wodd TP VIR, Aa, KT WS 100 do
120 aﬂm‘ﬁ#@p‘@ : 10x1=10
(a) ST TR fortoces a&éig ST DTOR.
(b)  gRTSE ToTwoe WStebew FOEOTY Wil WD,
8 39N oPmnosn 0B TFNOR evZoL. TBodeomd YOI TwoH
50 adﬁféeﬁtﬁé . 5x2=10
(a) YRUST G TRy Kovs m odeenSny 201} 23E R,
(b)  FHELTE DA WoIIA,ONY Wil ACHAR.
(c) HTOSMONY I¢Sedn Wi HJOL.
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PART D

12. Answer any one of the followiné questions. Restrict your answer to
200 - 250 words : 20x1=20

(a) What is non-conventional energy ? Write brief notes on few
important types of non-conventional energy sources and their
benefits,

(b) The Government of Karnataka released the “Information and
Communication Technology Policy” and “Electronics Hardware
Policy” in 2011. Write a note on the motivation for releasing these
policies, and discuss the various features of these two policies.

13. Write brief notes on any four of the following. Restrict your answer to
100 — 120 words each : 10x4=40

(a) Stellar Energy
(b) Ecological Footprint
(¢) Biological effects of Nuclear Radiations

(d) The role of Research and Development (R & D) organisations set
up by the Ministry of Defence, Government of India in enhancing
the technological profile of Karnataka and India

() The commonly used fluorescent lamps and compact fluorescent
lamps

(f) Genetically modified (GM) crops and food



(13) DD

ot D

12. 81 3UNT OIMPHETH wo> JFR LIOL. I, PIT WIWDH 200 B0
250 IERYATO : 20x1=20

13.

(a)

(b)

TROZEOARTTYE B RomTeRD ? TOTJEANTIYE FOFH S0NTE B
TRONY AFNTEY 0B Tod 8T8 WOAND WY LPNPom A
RN, 9K,

FOREWE AHETRY) 2011 Y, “‘TRbd @) TouEs SoZps ded” mons
“VITY,T TETESTT Qed” o DBNE TRABD. 81 NEINTRY, DN
TRAZT LoOTT F,TB DT QoW Wil womd BT WOAND I
RUBL BN DDF OF, NI 300D WWE R,

WNS cCMPTETR WL, BINER wwIOL. T3odwomd T[INA WO
100 80w 120 TN 0O 10x4=40

(a)
(b)
(c)
(d)

(e)
(f)

0 TG
BeTOTTT mca’amc:_s_,
TON DTN 2%&)3' TOBOTNGD

TREWT Tone pRUSE ToFRSE TOWORTIY, BYPRTY, 003
TWEETE UM S0Z000s) MBI Todrers wbzy uz,‘)%% ToRNY
(R&D) 03,

TR, WIFOD FYUXOLET BT Tore VET POX0EF Hemed.
S*P%w{g&s’mﬁ W LNTNAE (GM) L¢nsd Tone &3m0,
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14. Write sﬁ:ort notes on all of the following. Restrict your answer to

20 — 25 words each :

(a)
(b)
()
(d)
(e)
(£
(8)

(h)
(i)

Fluorosis

Air Pollution
Acid Rain

Gels

Soil Erosion
“Dolly the Sheep”

Science and Science Education in District-level and Rural

Karnataka

Biometric Devices

(14)

Dairy Farming and Dairy Technology
Krishi Vigyan Kendras

2x10=20




(15) DD

14. 8 9NT QQRYNVML Hod T 3 SO, BBodrom vIT 20 - 25 THENY
MBoHATLIeED : 2x10=20

(a)
(b)
(c)
(d)
(e)
(f)
(g)
(h)
(i)
()

), CReAT®

o0 TOF,

By THY

BNy

LIARTTY

@d o O

FIOEBED RURIHLTY BT MR LRNEY DIRT aH3) MR 380
203p¢LF TFIND

BHmdE HI) HH FoTR

3 DT Seomisd

_ o o — ——
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2011
mdsaﬁd PP
o
ag,a&ad%i 2

Tadod : 3 roedned | [ mosy eossd : 300

BRUWIND

T8 TFovdy WNTT Tors FYETO OTONS. FYE
TEMD Wodew evoinad, Tondiy woff spIod TYMVD
DT .

%y, TEeY TIETY FRRADIS IFEOTLe (Rofea® eFTe
Fg@) ey evIonvay wlodIEm; KRy WIT TIFad
SRPLETY  JFeFoon  de@dens e  Fageoen
VDROTIER. WFeT TZDY ITROTE SGHEY oo
VIO QOTNYRY AEELIMDHRY.

GLPETTEO DR DNV TFMIR, evIoTeles.

T8 JFN FoROTRE LTIV, LoD §oNTE FeRATCINS.

e oo wgey) ARl wow  genod
TRRADOY TE,08 VG ATTRETEN.

Note : The English version of the instructions is printed on the front cover
of this question paper.



